DC‘/LS S\MW\U\/\@UL’&,G:LCL& SN

1 2 l
S42 4344457
5

b
_Z_M/\ =2m+3m4b =9 m

3=2

O+00+46+65+4=0 +G+A-6,S)%E§—(2'U,b_>

L 4643:05) 4(544.0,5)
=Z(5+ 13 D,5>

k=0

Zmﬂ%kﬂ\% [T+16 %

k=2
A+10+8+46 =
= O+ 8410 + /2. =32 442452

il —+¢-2
= (.8
= &(@rk 2)=6+8+10+ /2

@'+{o+
Vatb

613 =4 43=]
Jg+3T-Je5=5

3
> U2-2k)=1241048+6
K=0



Zlc =3 —fq ‘45 ’{- 6
-ék—ii% \\/+2

7 (i2)’ =34 4646

./\

[V\ABX\IE‘rsclme,[oum% Gmu(s o JO([’\WG
o 0D

L T 5 L‘(

k=0

ﬂDi% SMWLW% o{@r Eﬂ’é{em a m&ué{ﬁfr—
Lidheu 2 ahlen’

S (
K = A42 43+ v + 40 = m (m=+4)
\<:: 2

A=

N4=b =2°

/]+’5+5,—_E{:32

1434542 =/ =6"
5 Summanden

Die Summe oer C/F\S{eu N mnﬂorao'{m/‘
Zod/tﬁ@m E)(%IlO'LZJ ns A2 3R b on

a(a[ 4>—M AD S 1 2n-

k=1 EV\_S
=41+ 54 4+ »L(Zm A)=m

c



